Diversion of 0.008 ha of forest land approach access road to B-Site (Kissan Sewa Kendra at part of Khasra No 59//6/1, 59//5 R/s Retail outlet of Indian Oil Corporation ltd. At village Sandhwal to village Saidon on Hajipur- Mansar Road Tehsil Mukerian Distt. Hoshiarpur

User Agency:- M/s Indian Oil Corporation Ltd. Proposal No - FP/PB/Approach/142019/2021

# **CHECK LIST SERIAL NUMBER:-6(i)**

### "SCHEME FOR COMPENSATORY AFFORESTATION"

Details scheme for compensatory afforestation to be carried out in lieu of Diversion of 0.008 ha of forest land for approach access road B- Site (Kissan Sewa Kendra) at Part of Khasra No 59//6/1, 59/5) R/s Retail outle of Indian Oil Corporation Ltd at village Sandhwal Tehsil Mukerian Distt. Hoshiarpur. Details of degraded forest land/non forest land

District Hoshiarpur. Village Haler Janarthan Forest

Tehsil Mukerian

Name of Forest Division Dasuya forest Range Mukerian

Block/ Compartment/Survey No. Haler Janarthan Forest

Area to be afforested 0.100 ha

#### 2. Description of Area:-

- i Whether the site selected for Compensatory Afforestation is a land bank or not:
- ii If the CA site is other than the land bank, reasons be given -
- ii In case of non-forest area identified for CA, then what is the distance of CA site from the adjoining forest boundary
- iv Soil type :- Medium
- v Topography a. Hilly/Undulating/Plan
  - b. Slope:- Steep/Medium/Gentle
- vi Whether the area is bearing any root stock of vegettion:-NO

### 3. Plantation Model :-

Copy of approved Compensatory Afforestation Scheme/Model showing component wise physical and financial break up to be enclosed.

Atal Kumar Divisional Forest Officer Dayuya Forest Division Dasuya



Diversion of 0.008 ha of forest land approach access road to B-Site (Kissan Sewa Kendra at part of Khasra No 59//6/1, 59//5 R/s Retail outlet of Indian Oil Corporation ltd. At village Sandhwal to village Saidon on Hajipur- Mansar Road Tehsil Mukerian Distt. Hoshiarpur

User Agency:- M/s Indian Oil Corporation Ltd. Proposal No - FP/PB/Approach/142019/2021

# 4. (a) Schedule of Plantation Programme for Degraded Scheme: Details of year-wise break up of requirements of funds is as under:

Plantation with Current Year Mtc.	0.100	329479.64	32947.96
Plantation with Current Year Mic.		02011101101	-
1st Year Maintenance	0.100	110218.17	11021.82
2nd Year Maintenance	0.100	80760.14	8076.01
III rd Year Maintenance	0.100	63742.35	6374.24
IV th Year Maintenance	0.100	11648.00	1164.80
V th Year Maintenance	0.100	12454.00	1245.40
VI th Year Maintenance	0.100	13338.00	1333.80
VII th Year Maintenance	0.100	14274.00	1427.40
VIII th Year Maintenance	0.100	15262.00	1526.20
IX th Year Maintenance	0.100	16328.00	1632.80
X th Year Maintenance	0.100	17472.00	1747.20
Comp. Scheme for 1.00 Ha. + Entry Point Activity 10% = 6850		684976.30	75347.63

#### Technical details:-

Technical details of Compensatory Afforestation Scheme are as follows:-

- a) General Details
- b) Spacing
- c) Species: Sagwan, Bamboo Etc
- d) Plantation Method
- e) Soil and Moisture Conservation Works.
- f) Protection (Fencing Watch man, People's Participation etc.)
- g) Proposed Monitoring Mechanism.

Atal Kumar
Divisional Forest Officer
Dasuya Forest Division Dasuva



## ESTIMATED COST FOR DEGRADED IN SHIWALIKS

Diversion of 0.008 ha of forest land approach access road to B-Site (Kissan Sewa Kendra at part of Khasra No 59//6/1, 59//5 R/s Retail outlet of Indian Oil Corporation Itd. At village Sandhwal to village Saidon on Hajipur- Mansar Road Tehsil Mukerian Distt. Hoshiarpur

1) Diverted Forest Area = 0.008	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Daily Wage Rate @ 342
2) Comp. Aff. Schme area =0.100 haa	, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,	Plants/Ha :1000

3) Name of Site of Plantation : Haler Janarthan Forest ( Mukerian Range)

	ants Planted = 100 Plants  Nature of Work	Unit	Unit Cost	Quantity	Amount
No.		<del></del>	VIIIC G G G G		******
	Component				······································
	A. Nursury		75.00	1100	82500
1	Cost of seedling (upto tall plants) including	No	75.00	1100	62500
	(a) Original planting=1100 per ha.				
	(b) Replacement 10%= 100 per ha				
	Total 1100 No. in P. bag				<del></del>
	B. Soil /Adv Works.				
2	Lantana stubbing	Ha.	27981.10	0.60	16788.66
3	Survey and alignment	Ha.	1368.00	1.00	1368.00
4	Earth work i.e. digging of Pits of Bouldry Soil size	M3	149.23	100	14923.00
4	1000 No. x .50 Mtr. x .50 Mtr x .40 Mtr	·			
	1000 No. X .30 Mil. X .00 Mil X . 10 Mil		, , , , , ,		115580
	O Dispression				.,,
	C. Plantation.  Refilling of pits 1000 No x .0.50 Mtr x .50 Mtr x	M3	27.62	75.00	2071.50
5		IVIO	27.02	, 5.55	
	.30 Mtr =75 m3	No	10.83	1000	10830
6	Carriage of seedlings (Tall Plants) by Tractor-	INO	10.00	1000	
	Trolly (T. II Blood)	Mtr	9.60	1000	9600
7	Carriage of seedlings (Tall Plants) by M/L lead	IVILI	9.00	1000	0000,
	500mt.	100 No	85.46	1000	854.60
8	Loading & unicading of plants (Tall Plants)	No	10.26	1000	10260
9	Planting of seedlings (Tall Plants)		10.26	130	1334
10	Fixing of cernent concrete fence post including	100 No.	1026.00	130	1554
	digging of pits 1/2 Mtr deep.	400 14	474.00	1950	3335
11	Layout and Fixing of barwed wire per stand	100 Mtr	171.00	2000	1196.60
12	Application of Insecticides 1000 x 2 times = 1000	100 No	59.83	2000	1190.00
13	Application of fertilizers 1000 x 2 times = 1000	100 No	59.83	2000	1196.60
13	Application of fortingers vees in a single				
14	Prepration of inspection path in Bouldry Soil 50	M3	149.23	5	746.15
1-4	Mtr x .10 Mtr x 1Mtr= 5 M3				
	INIS X.10 MIS				41423.75
	D. Mtc on Planting Year				
15		M3	149.23	5	746.15
15	path				
16	10 b Of plantation V	No.	342	26	8892.00
1 "	2.6 days				
1	7 Cutting of lantana/mallaha 2nd and 3rd times.	Ha	17890.00	1.00	17890.00
1	0.50 x 2= 1				
1	8 Weeding hoeing i.e. 1000m x 3 = 3000 m	No.	3.00	3000	9000



			Unit	<b>Unit Cost</b>	Quantity	Amount
r. No.	7 7	Nature of Work	VIIII .	Omit Good	7	
1. NO.		Component		59.83	2000	1196.60
10	Applica	ition of Insecticides 1000 x 2 times = 2000	100 No	59.05		
19	1 ' '			50.03	2000	1196.60
	VA	ation of fertilizers 100 x 2 times = 2000	100 No	59.83	7.5	423.23
20	Applica	ening of pits 100 No x .0.50 Mtr x .50 Mtr x	Mtr	56.43	7.5	
21	1 00 144	0.10 m <sup>2</sup>			1000	10830
	1.30 Mt	rm = 2.18 m3	No	10.83	1000	,000-
22	Carriage of seedlings (Tall Plants) by Tractor-				100	960
	Carriage of seedlings (Tall Plants) by M/L lead			9.60	100	
23					100	85.46
	500m	t. (Tal Plants)	100 No	85.46	100	1026
24	Load	ing & unloading of plants (Tal Plants)	No	10.26	100	
25	Re -F	Planting of seedlings (Tall Plants)	No.	3.05	250	762.50
26	Cov	ering (25% Plants)	No.	0.33	250	82.50
27		overing	180.			53091
	-			· · · · ·		77.
	F	Material	CA	452.35	10	4523.50
28	Inco	oficides including carriage	litre	33.92	200	6784.00
	Fer	illizers i.e. urea etc. including carriage	kg	33.92		5000
30		c. Items ( tools, etc)	L/S	350.00	130	45500
31	_	nce Post (Concrete)	No.	85.00	325	27625
32		wed Wire	kg	65.00	020	89433
32	Dai					299527
<u> </u>	-	Total Cost of Plant	ting Year	w .		29953
-	Countigency 10					329480
-	_	Total Cost of Plan	ting Year		/ \	
-		1st year Maintenance (	Labour ra	ate Rs. 366	18.75	1132.31
-	4 D	e-opening of pits for replacement 250 no x .50	m M3	60.39	18.75	1102.01
	1	$r_{0m} \times 20m = 18.75 \text{ m}$			10.75	712.34
-	<del>~ ^</del>	efilling of pits 250 No. x 0.50m x 0.50m x 0.30	)m M3	37.99	18.75	7 12.54
1	2 R	18.75 m3			050	26754.39
-	- 1	(Tall Plants)	No	107.02		2897.50
-	3 N	carriage of seedlings (Tall Plants) by Tract	or- No	11.59	250	2097.50
	۱, ۲	rolly			250	2568.42
-	5	Carriage of seedlings (Tall Plants) by M/L lab	our 100 N	10.27	250	2500.42
	5 1	ead 500mt.				228.64
-	6	oading & un pading of plants (Tall Plants)	100 N	11		2745.00
-	7	Re- Planting of seedlings (Tall Plants)	No			2129
-	8	Repair of Barwed Wire fence in hills	100	the state of the s		9117.89
-	á	Weeding and hoeing to trenches (Twice)	Mt			1280.57
-	10	Application of insecticides (Twice)	100			
	11	Application of fertilizers (twice)	100	And the same of th		15970.22807
	12	Repair of inspection path (Twice)	Mt	the same of the same of	The same of the sa	6654.09
-	13	Cutting of lan ana/mallah etc. per ha II & III tir	nes Ha	a 6654.	1.00	0004.00
	. •			200	00 26.00	9516
	14	Watch and ward for every 10 ha. Of plantation	n N	366.	20.00	, 3310
				0.004	035 250	816.01
-	15	Covering (25% Plants)	No	- Annual Control of the Party o		
	16	Uncovering	N	o. 0.353	158 250	7.104110
-						83890.84
-		Cost of material				4523.50
1		Insecticides including carriage		re 452	.35 10	1 4623.50

Ara Kumar Divisional Forest Officer Dasuya Forest Division Dasuya



. No.	Nature of Work	Unit	Unit Cost	Our matter.	A			
	Component	Onit	Unit Cost	Quantity	Amount			
18	Fertilizers i.e. urea etc. including carriage	-	22.00	222	272.11			
19	Misc. Items ( tools, etc)	kg	33.92	200	6784.00			
-	10015, etc)	L/S			5000			
				-	16307.50 100198.34			
	Total							
,	Countigency 109				10019.83			
	Total Cost of 1st Yea				110218.17			
	2nd Year Maintenance	(Labou	r Rate Rs. 3	392/-)				
1	Reopening of pits for replacement 150 no x .50 m	M3	64.68	11.25	727.65			
	x .50 m x .30m = 11.25 m3							
2	Refilling of pits 150 No. x 0.50m x 0.50m x 0.30m = 11.25 m3	M3	40.69	11.25	457.75			
3	Nursery cost of seedling (Tall Plants)	No	114.62	150	17193.38			
4	Carriage of seedlings (Tall Plants) in P bags i) M/L Average Lead 1.5 km	No	11.00	150	1649.93			
5	ii) Tractor trolly average lead 15 km (1000 plants per trolly)	No	12.41	150	1862.00			
6	Loading & unloading of plants (Tall Plants) from T/ Trolly	100 No	97.96	150	146.94			
7	Re -Planting of seedlings (Tall Plants)	No	11.76	150	1764			
8	Repair of Barwed Wire fence in hills	100 Mtr	116.91	1950	2280			
9	Weeding and hoeing to tranches (Twice)	Mtr.	2.44	4000	9767.87			
10	Application of insecticides (Twice)	100 No	68.58	2000	1371.57			
11	Application of fertilizers (Twice)	100 No	68.58	2000	1371.57			
12	Repair of inspection path (Twice)	M3	171.04	100	17104.48			
13	Lantana cutting (subsequent time 0 50 Ha) x 2 times = 1.00	Ha	6413.84	1.00	6413.84			
	Total				62110.81			
	Cost of material							
14	Insecticide	Kg	452.35	10.00	4523.50			
15	Fertilizers i.e. urea etc.	Kg	33.92	200.00	6784.00			
	Total		1		11307.50			
	Total							
	Contigency 10%							
	Total Cost of 2nd Year Mtc							
	3rd Year Maintenance (Labour Rate Rs. 419/-)							
1			69.14	7.50	518.51			
2		М3	43.49	7.50	326.19			
3		No	122.51	100	12251.47			
4	Carriage of seedlings (Tall Plants) by mannual labour lead 500mt.			100	1175.77			
5		100 No	104.71	100	104.71			
6		No	13.26	100	1326.48			
7		No	12.57	100	1257.00			
8		100 Mtr		1950	2437			
9		Mtr.	2.61	4000	10432.24			

Atal Kumar Divisional Forest Officer Dasuya Forest Division Dasuy

10/2



	Nature of Wo	ork	Unit	Unit Cost	Quantity	Amount
No.						5222.26
10	Componen Cutting of lantana/mallaha IInd	and IIIrd times.	На	7617.66	0.70	5332.36
			100 No	73.30	1000	733.04
11	Application of fertilizers			182.82	100	18282.08
12	Repair of inspection path (Twice )		Mtr	3.33	150	500.23
13			No.	6856.07	0.2	1371.21
14	Jungle Clearance i.e. Bhang,	Jhau tall weed etc.	No.	0000.07		
1-4	Jungle Glodient		~		7	56048.07
	Total			, , ,		
	Cost of material			22.02	56.00	1899.52
	Fertilizers i.e. urea etc.		Kg	33.92	30.00	1899.52
15						57947.59
	Total	tal Cost of 3nd mair	tenance			5794.76
		Contigency 10°	%			63742.35
	SubTo	E 2nd VOOR	maintena	nce	2/ )	
		ith Year Maintenanc	e (Labou	Tato Ita	26.00	11648
	Watch and ward for every 10	ha Of plantation	No	448.00	20.00	
1	Watch and ward for every 10	, iid. Oi pi	,			11648.00
	Total	*	1		<u> </u>	
	Iotai	5th Year Maintenand	e (Labou	r rate Rs. 47	9/-)	12454
	100	ha Of plantation	No	479.00	26.00	12-10
1	Watch and ward for every 10	Tia. Of plantais	t. •		-	12454.00
	7-4-1					12-10 1101
	Total	6th Year Maintenand	e (Labou	r rate Rs. 51	3/-)	13338
		o he Of plantation	No	513.00	26.00	10000
1	Watch and ward for every 1	U na. Of plantation			ļ	13338.00
	È				ļ	10000.00
	Total	7th Year Maintenan	ce (Labou	r rate Rs. 54	9/-)	14274
		Oha Of plantation	No	549.00	26.00	1427
1	Watch and ward for every 1	Ulla. Of plantage				14274.00
			* **			
	Total	8th Year Maintenan	ce (Labou	ır rate Rs. 58	7/-)	15262
		O ha Of plantation	No	587.00	26.00	1020
-	Watch and ward for every 1	U IIa. OI plantes			-	15262.00
	Total				2()	
		9th Year Maintenan	ce (Labou	ur rate Rs. 62	26.00	16328
	Watch and ward for every	10 ha Of plantation	No	628.00	20.00	
	Watch and ward for every	10 1101 = 1			+	16328.00
	Tota			tr. Do. 6	72/-)	
		10th Year Maintena	nce (Labo	ur rate Ks. 6	26.00	17472
	1 Watch and ward for every	10 ha. Of plantation	No	672.00	20.00	
	1 Watch and ward for every	10 1100 - 1				17472.00
	Tota					
		At	STRACT			329479.64
		Total Cost On Planta	tion Work	S	*	110218.17
	1	Li Coct of 1st year	Maillenai	100		80760.14
	Total Cost of 2nd year Maintenance  Total Cost of 3rd year Maintenance  Total Cost of 4th year Maintenance					63742.35
						11648.00
						12454.00
	6 of 6th Veal Walltone					13338.00
-	6	otal Cost of 6th year	Maintena	nce	-,	

Atal Kumar Divisional Forest Officer Dasuya Forest Division Dasuya



Sr. No.	Nature of Work	Unit	Unit Cost	Quantity	Amount		
<del>01. 110.</del>	Component		1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1				
8	Total Cost of 7th	yoar Maintenan	CO	,	14274.00		
	Total Cost of 7th	year Maintonan			15262.00		
9	Total Cost of 8th	year Maintenan	C G	-	16328.00		
10	Total Cost of 9th	year Maintenan	ce		17472.00		
11	Total Cost of 10th year Maintenance						
,	G.Total G.Total						
	Comp. Aff. Scheme for 1.00 Ha.						
		Rs	0.100	684976	68497.60		
	Comp. Aff. Scheme for 0.100 ha	77	***	, , , , , ,	6850.00		
	Entry Point Activity @ 10%	· ·	-		75347.60		
Total CA							
	Net Prestent Value         0.008         887000           Total						
	i	· · · · · · · · · · · · · · · · · · ·		Or Say	82444.00		

Note:- Labour Rate increased average 7% every year

Prividenab Forest Officer,
Passiva Forest Officer
Dasuya Forest Division Dasuya